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7 100kN/m%E#8z5| 1.00 | 0.00 ~ 272\ 14286 |3mZz#Bz5| — ~ — — — | 100kN/mi%#825 | .00 | 1080 ~ 2756 142.86 |3m%E#z25 - ~ — — —
s 1.00 | 272 ~ 1050 100.00 | NS | 0.00 ~ 1050 2.90 14.66 Zhn Lot 1.00 | .00 ~ 1080 100.00 | =hLst | 6.00 ~ 2756 2.90 14.66
2 100kN/mM%E#BZ5 | 1.00| 000 ~ 291 146.20 |3mZE#BZ5| 000 ~ 0.12| 5.06 15,48 | 100kN/m%Z#8z25 | 1.00 | 1053 ~ 2516 | 146.20 |3m&ERBZ 5| 25,00 ~ 2516 3.06 15.48
s 1.00 | 291 ~ 1070 100.00 | #nlst | 012 ~ 1070 3.00 16.16 zhLst 1.00 | .00 ~ 1053 100.00 | =hLst | 6.00 ~ 2500\ 3.00 15.16
3 100kN/m%E#8z5 | 1.00 | 0.00 ~ 282\ 144.62 |3mZx#Bz5| — ~ — — — | 100kN/MZ#8Z5% | 1.00 | 1061 ~ 2621 144.62 |3m%E#BZ5 - ~ — — —
s 1.00 | 282 ~ 1061 100.00 | =nLlsy | 0.00 ~ 1061 2.97 15.00 Zhn st 1.00 | .00 ~ 1061 100.00 | =nhLst | 6.00 ~ 2621|297 15.00
4 100kN/m#E#Z5| 1.00 | 000 ~ 247| 13863 |3mx#BzE| — ~ — — — | 100kN/mi#%#825 | .00 | 1091 ~ 2518 13863 |3m%#z5 - ~ — — —
s 1.00 | 247 ~ 1025 100.00 | =nLsy | 000 ~ 1025 2.87 14.563 Zhn st 1.00 | .00 ~ 1091 100.00 | =nLst | 6.00 ~ 2518 2.87 14.563
5 100kN/m%E#8z5| 1.00 | 0.00 ~ 279\ 144.07 |3mZE#Bz5| — ~ — — — | 100kN/m%#z25% | 1.00 | 10565 ~ 2350 144.07 |3m%EiBZ3 - ~ — — —
s 1.00 | 279 ~ 1057 100.00 | =Sy | 0.00 ~ 1057 2.75 13.92 Zhn Lot 1.00 | .00 ~ 1055 100.00 | =hLst | 6.00 ~ 2350 2.75 13.92
P 100kN/mM%x#8z25| 1.00 | 000 ~ 252| 139.59 |3mzBz5| — ~ — — — | 100kN/mM%E#B=z5 | 1.00 | 1061 ~ 2281 139.59 |3mZz#EZS - ~ — — —
s 1.00 | 252 ~ 1031 100.00 | NS | 0.o0 ~ 1031 2.63 13.52 Zhn Lot 1.00 | .00 ~ 1061 100.00 | =hLst | 6.00 ~ 2281 2.63 13.32
7 100kN/m#E#Z5| 1.00 | 000 ~ 1.97| 13038 |3mZx#BzB| — ~ — — — | 100kN/mi#%#825 | .00 | 1054 ~ 1800 130.38 |3m%E#z5% - ~ — — —
s 1.00 | 1.97 ~ 9.75 100.00 | #nst | 000 ~ 9.75| 2.36 11.91 ZhLst 1.00 | .00 ~ 10.54 100.00 | =nLst | 6,00 ~ 1800| 2.36 11.91
100kN/ Mm% A5 ~ 3mEHBAD ~ 100kN/mM%E#BZ 5 ~ ImEEZD ~
zhs ~ ZhnLst ~ ZhnLst ~ Zhust ~
100kN/ Mm% A5 ~ 3mEHBAD ~ 100kN/mM%E#BZ 5 ~ ImEEZD ~
Ths ~ ZhnLst ~ ZhnLst ~ Zhust ~
100kN/ Mm% Z 5 ~ 3mEHEAD ~ 100kN/mM%E#BZ 5 ~ ImEEZD ~
Ths ~ ZhnLst ~ st ~ Zhust ~
100kN/ Mm% Z 5 ~ 3mEHBAD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Ths ~ st ~ st ~ Zhust ~
100kN/ Mm% Z 5 ~ 3mEHEAD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Thst ~ ZhnLst ~ st ~ Zhust ~
100kN/ Mm% Z 5 ~ 3mEHEAD ~ 100kN/mM%E#BZ 5 ~ ImEEZD ~
Thst ~ ZhnLst ~ ZhnLst ~ Zzhust ~
100kN/ Mm% A5 ~ 3mEHBAD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Thst ~ ZhnLst ~ ZhnLst ~ Zzhust ~
100kN/ Mm% A5 ~ 3mEHBAD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Zzhst ~ st ~ ZhnLst ~ Zhust ~




